School: Hassiba ben-Bouali secondary school
Unit: (4) Innovation & Technology     
Approximate time: ……hours
 Book: At the Crossroads.                                                    Sequence: …………………………                               Level: 1st year Literary & Scientific streams                 Teacher:  ………………………



In this unit my pupils will learn to…
SEQUENCE ONE

-listen and respond to a presentation about an invention;

-mark intonation in indirect questions;

-mark stress in names of sciences and adjectives derived from them;

-speak about inventions, discoveries and developments in technology;

-write a short paragraph about an invention.

SEQUENCE TWO

-read and respond to a text about the development of telecommunications;

-express concession using 'however', 'although'…

-write a paragraph out of a flow chart.

SEQUENCE THREE

-listen and respond orally to the presentation of a product;

-read and respond in writing to the presentation of a product;

-read a newspaper article from an opinion page;

-write a paragraph giving your opinion about technology.

STOP and CONSIDER

-use difinite and indefinite articles;

-express result using 'so+adjective+that';

-describe an object: shape, colour, etc;

-use the future perfect to predict completed actions in the future.

SEQUENCE FOUR

-write a paragraph out of a flow chart about an invention;

-write an inventor's biography;

-identify problems related to vdeo-games;

-identify problem sounds: /n/ and / /.

PROJECT

-pupils will:

- make an invention profile on (a household appliance, a means of transportation, an electric device, a means of telecommunications.

-write a biography of different inventors
Project: :

·  making an invention profile on (a household appliance, a means of transportation, an electric device, a means of telecommunications.

· writing a biography of different inventors
Sequence One: Listening and Speaking.

By the end of the sequence, pupils should be able to:

-listen and respond to a presentation about an invention;

-mark intonation in indirect questions;

-mark stress in names of sciences and adjectives derived from them;

-speak about inventions, discoveries and developments in technology;

-write a short paragraph about an invention.

Anticipate: (P 98)
1. Look at picture 1 and answer the questions below using the words in the box:
Key:     

A. They are in the countryside. (b)

B. They are washing clothes. (c)

C. They are washing the clothes with their hands/with brushes/ in a basin.

D. I think they have brought water from a river, a stream or a well. 
2. Look at picture 2 and answer the questions below.

Key:     

A. She is washing clothes in a basin.

B. She does not have/hasn’t got a washing machine.

C. No, she isn’t.

D. She is using a washboard and a brush.

E. She is doing it to remove dirt from the clothes.

F. No, it isn’t. The washboard and the brush will use up the clothes.  

Listen and Check: (P 99)
1. Listen to the first part of the short presentation of an invention. Then check your answers to task 2 on page 98:

2. Listen to the second part of the presentation and answer the questions below:


Key:           

A. It represents a washing machine powered by hand/ a manual washing machine.

B. An electric washing machine.

C. No, it doesn’t.

D: It tells us about an invention’s profile / the invention and evolution of the washing- machine.

3. Now listen to the whole text and jot down notes in column B of the table below:

Key:
	
	A 
	B 

	1
	Introduction
	importance of home labour-saving devices

	2
	Problem
	people had to keep clean

	3
	Original solution
	hand/ small rock / washboard / brush

	4
	Problems with the solutions
	but long time; hard work; clothes damaged

	5
	Invention (who-what-when)
	James King / washing machine / 1851

	6
	Problems
	still hard work / hand powered

	7
	Innovation/New invention
	1908 / US company / electric machine

	8
	Conclusion
	almost every home has one


4. Use the notes to make a presentation of the invention to the class:
Key:   

Labour-saving devices are very important in daily life. In the past, people had to keep clean by washing their clothes. So, they used their hands, washboards, brushes and rocks. But this solution was impractical since it was still a hard work that took a long time and clothes were used up (damaged). So, James king invented the first manual washing-machine in 1851. However, it was still a hard work. In 1908, a U.S. company manufactured/constructed the first electric washing-machine. Today, almost every home has one.
Say it Clear: (P 100)

1. Listen to the pronunciation of the direct question below and say whether the intonation rises or falls at the end. Use one of these arrows:

Key:
            Who invented the first washing machine?
        Rule: Intonation in wh- questions:  The voice goes down at the end of wh- questions.
2. Listen to the same question which is asked indirectly now. Does the intonation rise or fall at the end? Use arrows to mark it:

Key:              
a- Can you tell me who invented the first washing machine?

b- Have you got any idea who invented the first washing machine?

c- Do you happen to know who invented the first washing machine?
         Rule: Intonation in yes/no questions: The voice goes up at the end of yes/no questions and down                   

                                                                       in information questions.
3. Listen to your teacher read the names of sciences in the box below and mark ( ) the syllable you hear most:

Key:
	Names of sciences
	Adjectives derived from names of sciences

	Technology             /teknɒlәdʒɪ/

Ecology                  /ɪkɒlәdʒɪ/
Geology                 /dʒɪɒlәdʒɪ/
Sociology               /səʊʃɪɒlәdʒɪ/
Biology                 /baɪɒlәdʒɪ/
Hydrology            /haɪdrɒlәdʒɪ/
Anthropology       /æn rәpɒlәdʒɪ/
Bacteriology       /bæktɪәrɪɒlәdʒɪ/
	Technological           /teknәlɒdʒɪkәl/
Ecological                 /ɪkәlɒdʒɪkәl/
Geological                /dʒɪәlɒdʒɪkәl/
Sociological             /səʊʃɪәlɒdʒɪkәl/
Biological                /baɪәlɒdʒɪkәl/
Hydrological            /haɪdrәlɒdʒɪkәl/
Anthropological      /æn rәpәlɒdʒɪkәl/
Bacteriological       /bæktɪәrɪәlɒdʒɪkәl/


4. Now listen to your teacher pronounce the adjectives derived from the same nouns and mark the syllable you hear most: what conclusion can you draw?

Key:
The rule here is that stress falls on the ante-penultimate syllable (third from the end). This holds true for all words ending with ‘cy’, ‘ty’, ‘phy’, ‘gy’, and ‘al’.

The adjectives and the names of science in the table (task3) end respectively in ‘al’ and ‘gy’. There is a shift in stress when words related to science change their grammatical category because of the addition of the suffix ‘al’, but the rule remains the same i.e., stress should fall on the ante-penultimate syllable of the adjectives and names.
The hidden message:
The message below is written in phonetic scripts. Rewrite it using the letters of the alphabet:

/ ˈtæblɔɪdz  ˈju:ʒәlɪ  rɪˈpɔːt  ˈskændlz  әnd  ju:z  senˈseɪʃәnl  ˈlæŋgwɪdʒ /

   Tabloids     usually   report    scandals    and   use    sensational    language.  
Your Turn: (P 101) 
1. Look at the pictures below and use the names in the boxes to decide who's who. Put numbers 1-4 in the boxes below:


Key:                                1                           2                            3                             4                             5


	Famous People
	Albert Einstein
	Alexander Fleming 
	William Shakespeare
	Alexander Graham Bell
	Louis Pasteur


   1- Alexander G. Bell    2- Louis Pasteur    3- Albert Einstein    4- Alexander Fleming   5- William Shakespeare
2. Match the items provided in the table and use the cues in the box below to play the game "TELL ME…":

Key:
1- A: Can you tell me who invented the telephone?

     B: I think it was Alexander Graham Bell.

2- A: Have you got any idea who discovered Penicillin?

     B: I guess it was Alexander Fleming.

3- A: Do you know who discovered the vaccine against rabies?

     B: Yes, wasn’t it Louis Pasteur?

4- A: Do you happen to know who formulated the theory of relativity?

                       B: No, I’m afraid I don’t.

2. Use the cues below to write meaningful sentences:

a. Louis Pasteur / discover / the vaccine against Rabies.
b. Alexander Graham Bell / invent / the telephone.

c. William Shakespeare / write / Hamlet.

d. Albert Einstein / formulate / the theory of relativity.
Key:
a. Louis Pasteur discovered the vaccine against rabies.
It is Louis Pasteur who discovered the vaccine against rabies.
b. Alexander Graham Bell invented the telephone.
It was Alexander Graham Bell who invented the telephone.

c. William Shakespeare wrote “Hamlet”.
“Hamlet was written by Shakespeare.

d. Albert Einstein formulated the theory of relativity.
It is/was Albert Einstein who formulated the theory of relativity.

The theory of relativity was formulated by Albert Einstein.

Say it in Writing:         [To be given as homework]
Use the information contained in tasks 1 and 2 to write a short biography of one of the people in the pictures above. Then read it to the class:

Key:
Louis Pasteur was born in France in 1822. He discovered the vaccine against rabies in 1885. He died in 1895. His vaccine has saved many lives.
Sequence Two:  Reading and Writing.

By the end of the sequence, pupils should be able to:

-read and respond to a text about the development of telecommunications;

-express concession using 'however', 'although'…

-write a paragraph out of a flow chart.

Anticipate: (P 102)
1. Look at the pictures and use the words in the box below to say  what each of them represents  :

          Key:  

                   1- telegraph                     2- satellite                        3- drum                        4- telephone
2. What do all the devices represented in the pictures refer to? Tick in the right box below. Then justify your answer:


Key:
              They represent the development of telecommunications. (b)
Read and Check: (P 103)

1. Read the text below and circle the letter that corresponds to the right answer:


                The text is:  a. narrative          b. argumentative          c. expository        d. descriptive 

Key:
                                 The text is expository (c)
2. Read the text again and fill in the table below:
Key:










    3. Look back to the information in bold type in the text above and tick in the right box to choose the most suitable title for the text:

Key:
             The most suitable title: Telecommunications: Past, Present and Future
3. Make the best use of your understanding of the text above to answer the questions below:

Key:
a- The ‘wireless’ telegraph was the ancestor of the radio.

b- The problem with long-distance voice communication was that the transmissions followed a   

    straight line from tower to tower. This made the system impracticable over the sea.

                 c- The solution was a system of communication satellites orbiting around the earth.                            
Discover the Language: (P 104) 

1. Read §1 and the first sentence of §2 in page 103 and tick the right box to complete the sentence below:

      Key:                                           
b- The author uses the connector ‘however’ because the information in §2 contrasts with that of §1. (b)

2. Choose one of the items (a, b, or c) to complete the sentence below and explain the use of 'however':
     Key
‘However’ is used to express concession.
3. Match each of sentences 1-3 with sentences a-c below. Then join them using 'however':

Key:          
1- The washboard is a convenient solution. However, it uses up clothes.

2- Einstein’s discovery revolutionised science. However, it led to the making of the Atom Bomb.
3- Graham Bell managed to solve the problem of long-distance communication. However, it necessitated the installation of telephone poles and wires.  
3. Connect each pair of sentences below using the link words provided in brackets:

1- The washboard is a convenient solution / it uses up clothes.   (However)
2- Einstein’s discovery revolutionised science / it led to the making of the Atom Bomb. (Although)
3- Graham Bell managed to solve the problem of long-distance communication / it necessitated the installation of telephone poles and wires. (Though)
Key:          
1- The washboard is a convenient solution. However, it uses up clothes.

2- Although Einstein’s discovery revolutionised science, it led to the making of the Atom Bomb.
3- Though Graham Bell managed to solve the problem of long-distance communication, it necessitated the installation of telephone poles and wires.  
4. Use the information in the box to complete the sentences below:

Key:
a- Although Bell’s invention solved the problem of long-distance communications, it required large amounts of cable.

b- Though Marconi’s invention solved the problem of cables, transmission overseas was impracticable.

c- Even though Arthur Clarke’s suggestion could solve the problem, it was difficult to put a satellite into orbit at that time.
(P 105)

Write it Right:
1. Match sentences a-d below with ideas 1-4 to reorder them into a coherent paragraph. Put letters a-d in the corresponding boxes:


Key:                                       
1- Problem: The human voice does not allow people to communicate over very long distances.(c)

2-Initial solution: So, in the old days men used drums and other archaic means to communicate. (a)

3- Problems raised by the initial solution: However, it took a lot of time to send messages. (d)

4- Invention: In 1876, Graham bell solved the problem by inventing the telephone.

2. Fill in the blanks in the table below with the words in the box:

Key:
Problem: Dishes get dirty when you use them.

                 Floors and carpets get covered in dust and dirt.

                 Ovens take a long time to cook food.

Initial solution: Wash them up by hand.

                           Sweep with a brush; beat carpets with a stick.

                           Start cooking a long time before the meal is served.
3. Use information from the table above to write a coherent paragraph about one of the devices. Use appropriate sentence connectors: 
 

Key:
Cooking food is one of the activities that has occupied man ever since the dawn of civilisation. To make cooking less difficult, man has invented the oven… / One of the problems facing modern man is how to get rid of household dust and dirt…/ Washing dishes three or four times is an unpleasant and hard task...)
One of the problems facing modern man is how to get rid of household dust and dirt. Floors and carpets get covered in dust and dirt. So people sweep floors with brushes and beat carpets with sticks. However, they get used up and the task is too tiring. In 1899, John Thurman, who was a businessman, invented the first vacuum cleaner.
Sequence Three:  Developing Skills.

By the end of the sequence, pupils should be able to:

-listen and respond orally to the presentation of a product;

-read and respond in writing to the presentation of a product;

-read a newspaper article from an opinion page;

-write a paragraph giving your opinion about technology.

(P 106)

1. Listen to the conversation and answer these questions:

Key:       

A: The customer wants to know about the size of the machine because he is not sure he has enough space for it.

B: a- What’s the height of the machine?

     b- And what’s the depth of it?

c- And how wide is it?     
2. Listen again and complete the sentences below:


Key:
a- The Design 2005 is seven hundred and forty mm high.

b- It is five hundred and five mm deep.

c- It is four hundred and thirty-five mm wide.
3. Pretend you are a salesperson. Make an oral presentation of the new refrigerator 'FROST 550'. Help yourself with the tactics summary on page 107:


Key:                                                   Suggested presentation
Ladies and gentlemen,

                 This product is our Frost 55. Although it is based on Frost 520, its system is completely different. The big advantage of Frost 550 is its gross capacity of 113 litres and its net capacity of 102 litres. Another big advantage is that it does not take much space because its width is only 450 mm. The major new feature of Frost 550 is its 3-star frozen compartment. Frost 550 is far superior to Frost 520.
(P 107)

4. Now read the specifications on page 106 and the ones in the boxes to complete the business letter below. Write full sentences:


Key:
Thank you for your letter of April 10th asking for some information about our products. Below is some detailed information about our machines.

Our company manufactures different models of refrigerator with different dimensions, capacities and prices. Frost 700 and Frost 750 are our newest models. Both are compact models with removable food shelves and full-width salad bin. However, Frost 750 is better in terms of net and frozen food capacity, height, depth and width. Both are available at low prices and in various colours.
(P 108)

1. Match each of the inventions in column A with its corresponding drawback (disadvantage) in column B. Put numbers 1-6 in the boxes below:

    Key:           a – 2               b - 4              c - 5             d - 6                e - 1                   f – 3
2. Find the advantages of the 6 inventions in the table above:

   Key:
a- The automobile allows/helps us [to] travel over long distances.

b- The cell phone allows us to get in touch with people wherever they are.

c- The television set allows us to have entertainment.

d- The computer allows us to work very quickly and efficiently.

e- The walkman allows us to listen to music without disturbing others.

a- The calculator allows us to do very difficult sums very quickly.
3. Use the information in tasks 1 and 2 to write sentences like the one in the example below:

Key:
a- Though the automobile allows us to travel over distances, it can sometimes cause health problems and death to motorists and passengers.

b- Though the cell phone allows us to get in touch with people wherever they are, it distracts drivers and causes accidents.

c- Though the television set allows us to have entertainment, it can distract from work.

d- Though the computer allows us to work very quickly and efficiently, it can cause eyesight problems.

e- Though the walkman allows us to listen to music without disturbing others, experts say it causes hearing problems.

f- Though the calculator allows us to do difficult sums very quickly, it reduces arithmetic mental ability.
4. Read the letter to the editor below and answer these questions:

Key:
a- Main idea: ‘we cannot really live without technology for three reasons’

b- The author of the letter is for technology.

c- To support his argument, the author gives three reasons.

d- Concession: ‘we must make sure that we have full control over it.

(P 109)

5. Look at the 4 pictures below and read their captions. Then answer these questions:


Key:
a- No, she is knitting an article of clothing.

b- No, everyone is busy doing something.

c- No, it doesn’t.

d- No, he doesn’t.

e- The cartoonist’s attitude towards TV is critical. (b)

f- It is unfair because he mentions the drawbacks of TV without pointing out its advantages.

6. Reply to this extract from a letter of opinion. Use the letter on page 108 as a model and help yourself with the ideas suggested in the pictures above:


Key:
STOP and CONSIDER

By the end of the sequence, pupils should be able to:

-use definite and indefinite articles;

-express result using 'so+adjective+that';

-describe an object: shape, colour, etc;

-use the future perfect to predict completed actions in the future.

(P. 110)

1. Read the Reminder and rewrite the sentences below to describe the objects in two other different ways:


Key:
a- The watch is white and oval / Its colour is white and its shape is oval. 
b- The banknote is green in colour and rectangular in shape. 

    The colour of the banknote is green and its shape is rectangular.
c- The dishwasher is cubic / The shape of the dishwasher is cubic.
d- The hairdryer is blue / The hairdryer is blue in colour.

Reminder

2. Read the Reminder and match the sentences from columns A and B below. Then join them with 'with'. Make any necessary changes: 


Key:
1-c: The car is new with tinted windows and an air bag.
2-d: The watch is square with silver hands and a gold strap.
3-a: The mobile phone is small with large luminous numbers.
4-b: The washing machine is made of plastic with a metal drum.

3. Rewrite the product presentation below to make it better. Make the best use of the Reminders above:


Key:
This is our new Quartz Watch 10. The watch has a round frame with an oval face. The strap is white in colour and made of silver. Quartz Watch 10 is superior to Quartz Watch 9. It has golden hands with an alarm and a calendar. Quartz Watch 10 is waterproof. You don’t need to take it off when you go to swim or have a shower.

(P. 111)

4. Read the Reminder and cross out article "the" where it is inappropriate in the text below:


Key:
   Ø man       - the sea           - Ø food               - Ø transportation        Ø oceans   - the earth             

   the spread     -   Ø civilisation     the development    -   Ø culture   -   the twentieth century          
   Ø man           -    the ocean floor      Ø new sources      Ø raw materials    -   the submarine

5.   Read the reminder and cross out articles 'a' and 'an' where they are not appropriate in the text below:

Key:
Ø cleanliness     -       a healthy skin      -     a good complexion           Ø mild soap       -     

Ø warm water   -      Ø excessive oil            Ø soap         -      an acne       -    a skin disease                    
Reminder

(P. 112)

6. Read the reminder and the captions below the pictures. Then build sentences like the one in the example. Use the right verb tense:


Key:
♣ We should thank Dr John Pemberton. He invented Coca Cola in 1886.  
   Dr John Pemberton is the man whom we should thank for the invention of Coca Cola.
♠ We should be grateful to Levi Strauss. He made the first jeans in 1860.
   Levi Strauss is the man to whom we should be grateful for the invention of the jeans.
♥ We should be thankful to William Wrigley. He invented flavoured chewing gum in1892.
   William Wrigley is the man to whom we should be thankful for the invention of flavoured chewing gum.
♦ We ought  to  thank  Chester  Carlson.  He invented the photocopying machine in1938.
    Chester Carlson is the man whom we ought to thank for the invention of the photocopying machine.                          
Reminder 

7. Read the Reminder and match the sentences from columns A and B on the page   

    113. Then join them with 'so + adj + that':


Key:
  - The cell phone is so useful that nearly everybody has one. (1-d)
  - The satellite is so distant that it covers a large part of the earth. (2-e)
  - The experiment was so difficult that the inventor spent long nights in his laboratory. (3-c)
  - The refrigerator was so expensive that not many people could buy it. (4-a)
  - Pasteur’s discovery was so important for man’s health that many people gave money to build a       

    Pasteur Institute in Paris. (5-b)
(P. 113)

8. Read the Reminder and rewrite the science fiction passage in the future perfect:


Key:
     By the year 2055, the population of the world will have reached 8 billion. Many cities will have doubled in size. We will have used up many sources of energy. Robots will have replaced people for many boring jobs.                   
Reminder 

SEQUENCE FOUR

By the end of the sequence, pupils should be able to:

-write a paragraph out of a flow chart about an invention;

-write an inventor's biography;

-identify problems related to video-games;

-identify problem sounds: /n/ and /ŋ /.

Write it out: (P 114 - 115)
1. Read the introduction below and guess where it comes from. Justify your answer:
          Key:  

                   It comes from: (b) a scientific article since it retraces the history of man’s fight against malaria.
2. Read the introduction above again and compare it to the introduction below. Then answer the questions:


Key:
a- Introduction A is more enjoyable than introduction B.

b. To make his/her introduction more interesting, the writer makes it read like a story wherein man stands as a hero against the killer disease malaria. He dramatises the facts to make them more impressive to the reader. (The learners can come out with other explanations.)

c- Introduction B is boring. It just delivers flat facts. We don’t have any pleasure reading it….

d. The first introduction informs and teaches a lesson at the same time.

e. Among the lessons which the author aims to teach are: the vulnerability of man and his heroic struggle against one of the most dangerous diseases. …

f- The author of the second introduction wants just to inform his/her readers about the fight against malaria and nothing more.   

3. The paragraph below develops the ideas announced in the introduction above. Read it and cross out the sentences that do not relate to the main idea:
Key:
The irrelevant sentences are: 
- Pasteur discovered the vaccine against rabies.

- At that time rabies was another dangerous disease.
4. Read the paragraph below and cross out again the sentences that do not relate to the main idea:


Key:
      The irrelevant sentences are: 
- Fleming discovered penicillin in 1928.

- Antibiotics are very useful in the treatment of various diseases.    
5. Now go back to the introduction on the previous page. Then use the cues below to write a conclusion using the same style so as to make it interesting to the reader: 

Key:
Work it out: (P 116 - 117)
1. Read the text and find the names of the inventors/discoverers who made the ionventions and discoveries below:
          Key:  

a- The law of Gravity: Issac Newton

b- The law of Relativity: Albert Einstein

c- The submarine and the ‘flying machine’: Leonardo Da Vinci

d- Rules for chemical combination and combustion: Priestly.

e- Radioactivity: Marie Curie

f- Three electromagnetic laws: Joule
2. Read the text above again and identify the parts of the paragraphs which state opinions and those which express facts:


Key:




3. Say whether and why you agree or disagree with the author’s opinions:

Key:
‘I do agree with the author’s opinions because I think that all men and women are born equal’. ‘Anybody who is devoted to science and works hard can become a famous scientist’.
4. Read the second paragraph and find what the author wants to do with his text. Circle the letter of the correct answer. Justify your answer:


Key:
           The author wants to teach a lesson to the reader. (a)

5. Read very quickly the jumbled paragraphs on the next page. Then match letters A-C with numbers 1-3 to form a coherent text: 

Key:
                            (1 – C)               (2 – B)              (3 – A)
6. Now read the paragraphs again and match each of them with the idea it expresses:

Key:
§ C: Carver came from a poor family. (c)

§ B: He showed his ability for learning at an early age. (b)

§ A: He was ambitious and helped himself. He didn’t count on others. (a)
7. Read the concluding paragraph below and identify the sentence which expresses the most important idea:


Key:
          His story is an inspiring example to people who want to become scientists.

8. Make the best use of the answers which you have given to all the questions above and write a summary of the whole text: 

Key:                           Suggested summary

There is no discrimination in science. The career of George Washington Carver provides a good example. Though Carver was a black slave, he managed to become a famous agricultural scientist. His story shows that anyone with personal ambition and devotion to science can be a scientist.
Work it out: (P 118 - 119)
1. Read these statements about video games and decide which of them are true and which are false. Tick where appropriate in the table below:
          Key:  

                   (a – False)      (b – True)      (c – False)      (d – False)      (e – True)      (f – False)
2. Read the instructions below and check which of them proves or disproves your choices:


3. Now, pretend you are an advice columnist. Reply in writing to the question below giving advice:


Key:
Dear Khaled,
       You can continue to play games and stay healthy. However, you should be very careful with the use of video games. Here is some advice which I hope you will follow.

First, the screen of your monitor/TV set should be small so that you can concentrate easily on it. Second, you should take some rest for at least 10 to 15 minutes after playing for an hour’s time. Third, sitting too close to the screen can cause serious health problems, such as an epileptic seizure or loss of consciousness. Finally, you should make sure that the room in which you play is not dark…
P 119
1. Read the text below and answer these questions:


Key:
A- Cloning is making copies of plants, animals and human beings.

B- No, it isn’t. Ancient Greeks cloned plants over 4,000 years ago.

C- The debate about cloning started when people realised that it was possible to clone human beings.

D- People refuse to eat genetically modified foods because they consider that this kind of food is dangerous for health.    
2. Class work: Discuss, then write a short letter of opinion taking sides for or against cloning and genetically modified foods. Use the cues below: 

Key:
Problem Consonants (P 120)
1. Listen and identify the sentence which your teacher reads from the pairs below. Tick in the right box :
          Key:  

                   It is really difficult to differentiate between the sentences when they are read aloud very quickly because they differ only in one sound. Accordingly, this task is to be carried out in the form of a game. As you read them aloud, make sure you provide a linguistic context and make necessary gestures to allow the learners understand what you mean. (e.g., look out, that’s wrong. The sum is 52 not 53. Look out, that’s Ron playing football over there.)

A: wrong /ŋ/                   A: fangs /ŋ/                   A: tan    /n/

B: Ron    /n/                    B: fans   /n/                   B: tank /ŋk/
2. Read the sentences again and identify the sounds that make the sentences different in each pair. Underline the sounds:


Key:
3. Complete the transcriptions of the words in the table below by ticking in the appropriate box. Pay attention to the pronunciation of the letter ‘n’:

Key:
	Words
	/n/
	/ŋ/
	/ndʒ /
	/ŋg/
	/ŋk/



4. Now listen and check your answers. Then pronounce the words in the appropriate way:


5. Write the transcripts below using the letters of the alphabets. Then read them aloud: 

Key:
a- The banker who is sitting on the bank is singing a song.

b- The singer is singing in a dangerous swimming pool.
Check Your Progress
1. 











































Aim: to get pupils able to practise the use of ‘however’, ‘although’ and ‘though’ to express concession.
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Aim: to make pupils able to pronounce correctly the letter ‘n’.
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Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to get pupils able to express concern over a problem























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to make pupils able to react towards other people’s opinions.























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to be able to 























Aim: to conduct an interview by asking for and giving information.
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Aim: to























Aim: to























Aim: to























Aim: to























Aim: to























Aim: to























Aim: to























Aim: to have pupils 























Aim: to























Aim: to























Aim: to























Aim: to 


























Aim: to 


























Aim: to 


























Aim: to























Aim: to be able to 


























Aim: to 


























Aim: to 























Aim: to 























Aim: to 























Aim: to get pupils able to practise the use of ‘however’, to express concession.


























Aim: to























Aim: to























Aim: to























Aim: to be able to 























Aim: to get pupils able to identify the type of a text. 























Aim: to be able to 























Aim: to be able to associate pictures with ideas.























Aim: to be able to interpret pictures. 























Aim: to make use of the vocabulary suggested in the previous activity


























Aim: to make use of the vocabulary suggested in the previous activity


























Aim: to make use of the vocabulary suggested in the previous activity


























Aim: to























Aim: to mark the shift in stress.























Aim: to get pupils be able to stress names of sciences ending in ‘-y’ and the adjectives derived from them ending in ‘-al’.























Aim: to get pupils be familiar with intonation in information questions.























Aim: to get pupils be familiar with intonation in wh-questions.























Aim: to get pupils able to sequence /organise their ideas in a logical order to transform the notes the have taken to a presentation.


























Aim: to make pupils able to take notes while listening.























Aim: to concentrate on the key words of the table to identify the most important information. 





























Aim: to make pupils listen to a presentation and check their answers. 























Aim: to get pupils able to interpret pictures and state hypotheses.


























Aim: to get pupils able to interpret pictures and state hypotheses.


























